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instructions To Candidates
. Yo not open this booklet until you are told te do se
Follow all instructious carefully

Answer all questions



Section A {285 marks)

Questiors 1 i¢ 5 carry 1 wiark each. QUESUOD“ B to 15 carry 2 marks each.
For each guestan, four oplions are given. One of them is the correct answer.
Make your chaize (4, 2, & or 4). Shade the correct oveal {1, 2. 2 or 4) on the
Optical Answer Sheet {CAS)

1)) The numbter of students in Jovous Schou% is atiout 4000, Which of the
following coute he tha actual number of students in Joyous Schoot i it

is round=d off © the nearest hundreg?

(vv 2809
(2§ 2093
(3 4054
(4) 4101

2) When v =3, find the value of 4y? + 2y — 4,

{*y 26
2) 35
(Y 66
(&Y 148
) Express 2 Klometras 50 metms in kilometres

Vs

25 km

o~

E
{2y <hkr
() 2.08km
4y 2005 km

4) The fiquire is made up of 5 squares, each of side Z cm. What is the
parimeiar of the *uurL
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9)

7)

in the fquae not drawn > scale, ine AER 7 iins CFD, Find angle w.
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C
1y 200
2) 40°
3)  60°
4) 80"

‘Derek does his daily exercise by c%m bing up and dJown the statre m

block. He aiways starts at the floor where his flal s, He goas up 4

floors, down 6 floora and then up 5 floors, 1o fiush on the 8th flanr, At
which floor is Derek’s flat?

(1) 5th
(2) 11th
(3) ard
() 4th

On Sunday, the number of adults visiting & museum is 3 tmes as s

any
as the numbear of ¢hiidrer. Tha enlrance ticket for 3n adult and

$3 for 3 child. - I the musaum collected a {ofal of SR80 on ;u—ﬁw How
many adults visited the museum?

) 2

o
{2) 45
{(3) 650
(4) a0

Benny has the sarme number of len--cer“.
Their tolal value 1s 38, Huw fnany coing

(1 60

) 420
(3) 216
(4) 432
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10y Therabo of Sam's money to Tim's meney was 4 1 9. Aftg Th'n
spent $38 the matio of Sam’s money to Tim's meney bacame 2 : 2,
How much morey did they have altogeiher at first?

{4 £78
{‘2} »C{ ‘\r
3 517
4y 5169

v i Leslie fravellad at 8B0kmih in a car, he weutd take 1h 20 min lo
complele his foumney, 1f he had cycled insiaad, he would take 5 Pours.

With what average speed would Leslie be vyeling?

1 10 krodh
2 2 Kkmih
33 16 ke
B A5 qrdn

i2)  The table shows the salary of 2 brotriers

[Name of bratner | Abel _ Car |
' Morthly selary $800 $1400 |

Each of them gives $200 to their mather and spends $400 on thair
monthiy oxpenses. The remaining money s put into thalr saving.
How many peivent more Joes Carl save [han Abel?

£
{21
(3% 300%
(B0




13)  The following bar graph shows the number of «ers sold 1n @ day. Each book
cost 1, each pen cost 80 cents, each file cost $2 and each eraser cost 50 cents.
Which of the 4 items has the highest total sale pace?
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1) Books
2) Pens

3 Files
4} Erasers

14)  -Which of these figures has only 1 line of symrmetry?
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{
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r—

15)  Study the cube below. Which of the following is the nat of the vuba?
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Section B {20 murks)

Questions 16 te 35 cariv § mark each. Write your answers o the spaces provided.

Give your arswert m the umtis stated.

-\
1[)

18 A containier with #iy

16 Whatis the product of 329 and 177

16 cubes are need 1o form the solid. Then the solid is painted biue.
_ p

What fraction of the number of cubes usad has twa faces painted blua’?

(Give your answer in its simplest form,)

Answet:

e

five durizngs is 0 Fka. Whal is the weight of the box?

e
~

Answes:

durians weighs 3.7kg. The dverage weight of the

Y Abe had 8 towar b

N

q
Thay have 29 hadges a

20)  Bvalsale 25 v 84 =8 % 2,

ANSWTL

dges than Ben. Cart had 8 more badoes than Abal
ltogether. How many badges did Abel have?

—



21)

22)

23)

24)

A pizza is divided amang four children. The first child is given ~ of the

pizza. The other three children share the rest equally among

themselves. What fraction of lhe pizza wili each of the other thres

children get?

Answer:
S 1 .
Y x =3 4 +! ! S Ax S
a4 4 o4 4
What'is the m ssing number iy the bax?
Anzwer

Find the value of 5402 ~ &

Angwar,

Study the number palters

What number should replace =7




27)

A solid miatal bioek 16 om by B em by 4 cmis rnelled down and recast
into the shape of a cube. Whatis the fength of each vdge of the cube?

Answer: cm

—

Wiat is the maximum number of cubes of side 4 ¢m that can be put
mto a resiengular box measuring 24 om by 15 cm by 10 cm?

Answer;

A show staned at 6.45 pm and ended 11:51 later, 6\* what time c‘ld the

a

show Bnd?

Answer: pm

Find the height of a iriangle with an area of 56 em?and base 8 cm.

Answear: M

M,

o
-

3

I

Alviz has a pizce ot tfi'i‘”) TmS cnilong He cuie
strinc. Find the length of the remaining staing in cm.

Answer: . cm




30)  The figure shows part of a post which is used for measuting the height
of water level. Whatis the height of the waler tevel indicated by the
post?

— 24 m

Water {evel

Atrswer m

31)  Mary has 4fifty-cent coing, 12 twenty-cenl coins and 11 five-cen: coing.
How much money does she have?

Answer: %

32)  Complete the tasseliation below with 2 rnore unit shapes.

L] - L] -
L] L3 ® *
“ L4 & »

33)  ABCD s atranezium. Find ZABC. Diagter s pot grawn to scale,

AISWNET o



35}

A car teavelled 3 distance of 244 ke frotn ©10am'te 1. 10pm. Wha! is
1he average speed of the car during the journey?

Angwer: - - kim/n

Find the avarage of the sum of all ever: numbers between 1 and 1+

Answer:




Section C (55 marks)

For questions 36 to 50, show your working cleariy in the spacs belaw each

question and write your answers in the spaces provided.
The number of marks available is shown in brackets { j at the enc of each
guestion.

36)

J

)

The sum of 4 numbers is 104,

If 3 of the'numbers are 22, 8 and 7x,

a) find the fourth number.

b) if x = 9, find the fourth number.

Avswe 3)

The table shows the rales of charges at s car park.

8.00am to 5.00pm

§

i

~

$1.5Q per nour or pai thereof

After 5 00pm

$1 per houe or part thereor

If Mr Lim parked his car from i0am to 7.30 pim, how nruch did he pay?

S E I
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An emply tank maasuring 50cm by 20am by 20em tontaing 4 ideniical

[y
I
A

cubes of side 0 am, Water flows in from a hose ata rate of 7{ per
minute and fHows out from a tap in the tank at a rate of 37 per minute.

How fong does { take to fill up the tank comnletely?

29)

n tnhe figure above, not drawn to scalg, O is the caaire of the drcle.
ACD iz a'straight line, Find angle x and y. {3 marks)

Arswer: x= I

y= 2]

——— e e e



40)

41)

Draw a paralielogram ABCD m which CD = 8 cm, AD = § cm and
CDA = 80°. Draw 3 line 1o join point B 1o point D. {2]

From the construction above, find the length of iine BO

Answer {n

A pupil answered 20 quiz guestions and scored €4 points, For each
correct answer, 5 points weare given. For each wrong answer, 3 points

were deducted. How many questions did the pupi arswer correctiy?

Answer:

(ad

——



A totsl of 500 blue and green buttons were parked in 2 box. There
were 80 mora green buttons than blue betions. 24 blue cuttons were
sold and some more green bultons were bought. There were twice g5
many areeir buttens as blue buttons in the end. How many green
tutions were bought later?

Answer: - By
& manco nosta B tmes as much as a pear. My LUim spent = of hig
< ! 3
7
money on mangees and — of the remainder ¢n @ pears.
How many mangoees did he buy?
Angwer: _ 4



a4) My Goh and Mr Ho each have some apples. If Mr Goh sells 80 apples
per day and Mr Ho selis 30 apples per day. Mr Goh will have 400
apples left when Mr Ho has sold all his appies. if Mr Goh selis 30
apples pei day and Mi Ho sell 60 apples per day, Mr Goh will have 700
apples left when Mr Mo has sold all his apples,
How many apples does Mr Goh has?



45)  There are 160 vehicies in @ car park. Thie ple charl represents the
riumber of each type of vehicles. There are three times as many
motorcyeies as vans. Pie chartis not drawn o scale.

T
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A

{a) How many moetorcycles are thera?
(b3 What fraction of the number of vehicics are vans?

{c) The cars cansist of big cars and smali cars. if — of the cars are big
3 :

cars, what fraction of the vehicles ara amail cars?

Answer:
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48)

40% of the members of a swimming club ware maie, There were 160
members in the club. In Jdung, some more male imembers joined tha
club and the percentage ot male members Hecame 75%.

a) Eventually, how many male membears were there in the cluh?
b) A monthly subscription fee of $49 was charged to all members.

How much money did the club collect trom ali the members
in June?

Answern &) {

b}

L

-
¢

a
-1



N

A B, and G had 2 total weioht of 115 kg, Alter a year, A's weight was
doubled, B's weicht increased by 15 kg and U's weight reduced by

S ka As gresull, A became twice as heavy as B and B became twice
as haavy as C, Whal was B's weight at first?

Arszwet

i




48)

The figure 1s made up of one circle, 4 semi-circies and a triangle, OVic the
center of the curcie. AB 1s 28 cm. ¥ind the total area of the shaded part.

(Take nt = —2—?—)

Anawer



Mr Chen traveiled from Town C 1o Town I3 which was 500 km Dwiny,

He siarted his joumey at 9.00am and drove al an average speed of

70km/h for 5 v Then he covered — of the ramaining journey at an
I,

average speed of S0km/h and completed the rest of the journey in

1 h 32 min. What time did he arrive at Town D?




50)

The ratio of the number of marbles recaived by John and Peter
was 4 1 7 respectively. The ratio of the number of marbles received by

N g 1 1 2
Peter and Sam was 9. 5. John gave-l--iZ of his marbles ¢ Samn,

1 R - b 0 5 i o~ N e
Peter gave EOT nis marbies {o Sam. BEventually, Sarn had 135 marbles,

a)  Find the ratio of the number of John's marbles fo Sam's
marbles at first.

b) Find the total number of marbles received by the 3 boys.

ek imer rme X P
ANSWET &) fe!

s
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